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N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)
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Radial grating (Siemens-star) N-Z

Radial grating (Siemens-star) W-Z

background step O 1 ringstep 0-1
Hex code Hex code
7 8 7-8
E F E-F
2 0 2-0
8 6 8-6
F D F-D

Landolt-rings W-N code: background-ring

Picture C4: Landolt-rings W-N; Use of the PS operatbAB* setcolor

L*/Y-0,00 0,0/0,00 239/4,06 47,7/16,6 71,6/43,0 954/88&min.) W;(max.)

*
: CIELAB, t 0,000 0,250 0,500 0,750 1,000
CIELAB, t+r 0,000 0,250 0,500 0,750 1,000
Picture C2: 5 visual equidistabt-grey steps- NO + W1, Use of the PS operatbAB* setcolor

L*/Y-0,00 0,0/0,00

(absolute)

Y=Yt+0,00

(absolute)

Y=Yt+0,00

Ng(min.) W (max.)

No. and
Hex code

I:CIELAB, t 0,000

| 0,067
CIELAB, t+r 0,000

0,067

0,133
0,133

(02{0]0]
0,200

0,267
0,267

0,333
0,333

0,400
0,400

Picture C1: Radial gratings (Siemens-stars) N-W, W-N, N-Z and W-Z; Use of the PS operatbAB* setcolor
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line raster diameter inIpi
Picture C5: Line raster under 45° (or 135°); Use of the PS opéraR3r setcolor
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line raster diameter inIpi

0,467
0,467

Picture C6: Line raster under 90° (or 0°); Use of the PS opdrAft setcolor

6,4/0,70 12,7/1,52 19,1/2,77 25,4/4,56 31,8/7,00 38,2/10,2 44,5/14,2 50,9/19,2 57,3/25,2 63,6/32,3 70,0/40,7 76,3/50,4 821778136 98,4/88,6

0,667
0,667

0,533
0,533

0,600
0,600

input: LAB* setcolor

0,733
0,733

(0R<{0]0]
0,800

0,867 0,933 1,000
0,867 0,933 1,000
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Picture C3: 16 visual equidistalit-grey steps; Use of the PS operdt8iB* setcolor
- JISO/IEC 15775 and
5 -_q_ Fig. C1 to C6 of ISO/IEC-test chart 3; DIS ISO/IEC 19839-Xputput:no change compared to input
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